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��%5 
��� �� �$��S��	  �(��#�MPR ��6(� $� ���)� 	� �(��#� ��	 �5 $��(

 .��%� $� �76� ��#� ��%R� �� ��&�� �� ���%� $� ;6�� 2#�� ]3�� � 
��5  �������  

 $��� 2�	 T�, ����� ��	 �� .�� �(	%& >�?�	 �'P�� 2�'Y� �1�(� 1�-'� ���� �5 �� 	� r���. ��	 �8	

 $� <�)� 	�  �������! *�� �� ���� �>�� ��	 .��	��F� �( 
�8 ��	 �� ��( ��%& ���)� �	 �'� 2�	 ���: �5 1�����

 .�65 $����6� 	� ������� ����� ����� ��	%�� �5 �(�  

4. ��6+��.7 �  

 *�4� �mF� .1�(� $� <�)� 	� �( ��%& ���)� *%+ �� 
�� 
��
��	 A���& 2�
�5 *�� �KS� ��	 ��

  �6� ��%& 1���%?�	 ����-3 
%R� �	 $���%8QoS-OLSR .1�65 $� ����� 

4.1 ����7 ���8� 
�!9��  �:�;  
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 /�( ��%&�� I�S��	 ��-b�  	��MPR2�
�5 �  �	���� �	 $�%& sV� �5 $��(  ���69 ��6��� ���	� A���&

 *��QoS  *��P) 1�(� $� ��@6)��1 �*�B�	 �����  �6@� :����8 $� �X� �� 	� ���  �(���'� ��@��� ��	 .(

 /�( ��%&�� K�%� �*�B�	 � �65 $� ��-b� 	� <�6�-+	 2����: �����  �6@� .
���-�:�� ��L��� 23��

MPR������. �� ��65 $� ��-b� 	� $��S��	  �(  .�665 $� M
. 	� ����  �	���� ���L�� � 23��  �(���	���

 :��	� [�( �� � �(� $� <�)� 	� �B�� �� <����  �(��� �	�'� �
���-�:�� ��L��1 �� ����� �����  �6� 
��8 .

 	�?-( 
���-�:�� ��L�� �� $��( ��%&2 . �	 <�6�-+	 � �( ��%&�� I�S��	MPR   	�� �P%� ���: ��L�� �� �(

 $��@P I�� 2�':%� 1�#�� ;-5 �� <	%� $� 	� ���#�  �( 1�#�� �� 
���-�:�� ��L�� ���	��� .<��5 $+GPS 

 C�D	 �*�4� ;� <	%6'� .�65 $� 
��&J ����� ����� �(  	�� 	� �( �R� ���� 
�(�)��� ��	%� $� �5 2���

��5 �� <���� <�)��( �5 �6�#( $��65��5  	�� �
��P �� ����� �����  �B�� �����P �2�	 ���& �� 2)8��� ��

 [�( �� 23�� ���	��� <��>�	 ����)��%V� .��5 ����R� <	%� $� 	� 
���-�:�� ��L�� ��	���6� � �%� $� 
�����

 :��	�1 � 	�?-( 23�� /���� �� $��( ��%& �� ����� �����  �6� 
��8 .2 � �( ��%&�� I�S��	 �	 <�6�-+	 .

MPR�'� 23�� �� $��( K(�5 ]3�� �T�� [�( � �%� $� �( ��%& �-3 <�� $�,%+ ]3�� �*�	 [�( .*%

 .�%� $� $+����	 2#��  

  �@��� �5 2�	� �P%� ����QoS  .�665 $� ��-b� I�S��	 *%+�� 	� ����� ����� <��� 2�	�3 � ��@6)�� ��

 H��� ���69 �2���.QoS � $� ��@6)�� 25��)� �	 $���
�� �3%-7� /��	�� 	� .1�( �� ���R� �H�	%� ��	

 ���� ���� �6�#�� ����-3 �� $6���  �(���	��� �� �R� �� $6���  �(���	��� $� ��6P ���69 ��� *����

 � (�( ���#-( �	�'�) *�B�	 �(����  �6@�) <�6�-+	 2����: �� g%��� ���'� ���69 �	 ��)�� H�	%� ��	 .�6���

� (
���-�:�� ��L�� � 23��)  �	���� �6�	�� �� �6�	%� $� �( 
�8 T�-� <%9 �%� $� ��-b� 2�	�3 .�6��� $

 KS�) ����8 $� 
�@� /���� ���: ����  �6@� ;6�� �	 � ���	� 25��)� I�S��	5 2�	 ��@� �*�4� <	%6'� .(

 I�S��	 �6�	�� �5 1�65 �P%�MPR C��6�� ��L�� *�� � ����  �6@� *�B�	 /��	�� �BCDV  *��QOs   ��

 KS�) �(� $� 	� G���� ����@� �5 �(� $�6 ������ �5 ���	� �%P� C�:� ����� ����� �� ��6�	�� ��	 �� .(

:���	� 	� ��� A���& ���	��� 2�
�5  
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 -  ����� �����1= ����  �6@� :30 *�B�	 �3 = ��L�� 2�#� �0.3 = 23�� 2�#� �0.4 �

 

 -  ����� �����2 =����  �6@� :150 = *�B�	 �4�  = ��L�� 2�#�0.4 = 23�� 2�#� �0.4  �

 

 ����� ����� �8	 $�. ���	���6�1  ����� ����� ����� ��)�� 
���-�:�� ��L��  	�	�2 �	��� �QoS  m��� � ��,��

 /��%&�� <	%6'� �� 2�	� �(	%& ��)��MPR  H��� <%9 �%� I�S��	QoS  2�	�3 �5 2�	 
�� $.	�+  �%+

<���  ��-b� 	� �( 
�8 [i. I�S��	 �6�	�� �	 ����� G�� $6�'� ���	��� �� k'Y �	 
�8 �8	 ��7��� �� .�65

 .�� �(	%S�  

4.2 ��.7 ���6+ �� 49�<�  

*�B�	 *�� �*�4� ��	 �� -  C��6�� ��L�� � ����  �6@�BCDV   ��%B�)1 G���� ����@� <%9 �%� $� 
��
��	 (

 �	�'� �X� �	 	�MPR� ��&�� �����  �	���� ��( KS� �� �5 �(� $� �`	�	 ��#� ��%R� 2�#� � ���%�� 1(�6 

 *��P � 2�	 
�� �`	�	2  ������ >��QoS  ��%B� �
�U'� .�(� $� <�)� 	� 
�8 �(  	�� 
�� ����R�2 ���� �

 �	 ��)�� ����� �����14  *�B�	 � �( ��%&�� I�S��	 �� $��( ��%& ���)� �6����� �5 �(� $� <�)� 	� 
�8

 ��%& I�S��	 �� ��(MPR  �6� ��%& 1���%?�	 .2��(QoS-OLSR  I�S��	 � �( ��%&�� I�S��	 ���� �5

MPR �	���	 .�65 $� �-3 ��� A�%B� �2��(  �( T��� �5 $��( 
�8HELLO  ������  ��. ��665 $� KS� 	�

 A���& 2�
�5QoS  ;�  �( ���#-(  	��T�8 5 �%& ���#-(  	�� 
�8 �( mF� .�6�#( �%& ���'�  	�	� �

QoS  �	��� �8	 �
�8 ;� .�(� $�  	� ���� ��%&�� ��6�	  	�� �2�	 $�R� *�-�#5��QoS  *�-�#5�� $�R�

 ����� ����� ��� *�4� �� .�(�  	� �%& �� ��	%� $� ����� ���	� 	�12  �13  ��%� $� I�S��	 ��%&�� <	%6'�

 ������  	�	� <%9QoS �#-( <��� �� $�R� *�-�#5��  �( ��1 - T�8 ) �6�#(746.5  �797.8 <%65	 .(

 � ����8 ��� �( ��%& 
�8 _�%� ��%& ;� ���	���6� .�� �6(	%& �B�� �%& $��S��	 ��%&�� �� �( 
�8

  �(1،2،3،4،5،6،12  ��%&)1  �( 
�8 _�%� �?�� ��%& � (7،8،9،10،11،13،14  ��%&)2 ��� (

���� I�S��	 �( ��%&�� ����:� .���8 $�  �( 
�8 �3%-7� I�S��	 *%"#� �MPR  *�B�	 
��P	 �@�! �� � 
�%�

 I�S��	 1���%?�	 .�6(� $� 	� �?��-( �� g����	 �MPR :��5 �LU& ��� A�%B� <	%� $� 	�  
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 -  ;�  �( ��%&��T�8  �� ���� <��� � �-���#�MPR ��%� $� �B�� 

 - ��  �( ��%&��  	��T�8 
�8 ;� �MPR  �	��� ����,��  	�	� 
�8 ���	���6� .2�	 T�,QoS  �� 
�665 �B�� �

 A�%B� ���%&��MPR �� �6(	%& I�S��	 

 -  ��  �( ��%&��  	��T�8 
�8 �� �MPR  ���	���6� .2�	 T�, �	��� ����,��  	�	� ��#� �� r�'��  �( 
�8

QoS  <	%6'� ���%&�� �� 
�665 �B�� �MPR  .�� �6(	%& I�S��	 ��	%� $-� $�R� ��%&�� ���%� ��	 ��

 
�8 ���(MPR   �( T��� <%9 �65 I�S��	 	�HELLO  
�8 �� �6�	%� $-� <!2 - T�8  I�S��	 �5 �6(� QU+	

  �( 
�8 �	 $�� ���	���6� .2�	 
��MPR  ��%&�� _�%�  �?�� � $�R� ��%&�� _�%�T�8  �(	%& I�S��	

 .��  

�%&�� �5 ��65 u�� ��� *�4� �� �12  ��%&�� �� *�B�	 �� ����13  �� �5 2�	T�8  r. ��@9 � 2�	

 :��	� I�S��	  ������  	�	�QoS  �+%���  .2�	

 ��#� �����7�! �	 ���	���6�  *�-�#5�� �	���  	�	�QoS  ��%&�� �2�	12 
�8 �1  <	%6'� 	�MPR 

 
�8 ��%&�� ����)� �%V� .�65 $� I�S��	13 
�8 �8  <	%6'� 	�MPR  �� ��	 �<%65	 .�65 $� I�S��	

 ��#� r��+�	 � �?��-( �� �6�	%� $� ��%&��8 -1  �	��� ����,�� �5 �665 �	�:�� g����	QoS  $� <�)� 	�

 I�S��	 1#����� 2�	�3 
����� .�(�MPR *�. �� �-`	� <! �� �( 
�8 �5 1��	��� $� $����6��  N%�%�%� �� �

���: 	� �@�! �R� � �6�#( 25�.  �� �5 1��	��� $� $�B�� ����  N%�%�%� $���� �� �
�U'� .���� $� n�%'�

 	� ��%& �69 �� �� *�B�	 
��P	 �k��S�  �( 
�8 ��%& ������ ��	 ��)� �*�. ��	 �� .�(� $� <��� ;� ��

��)� *%+ �� $�'P A�3U+	 KS� �� � ��%� u�� $�V6� ������ ����� �5 �%� $� ��7�	 $���� � �6� �

 ���� �� � 
��5 C��S� 	� ���� ����-3 � ����� ��69 .�665 Q�6��	  �6� ��%& *�� ��  ���-( �	 �( ��%&

 KS� �6��-( ��##8  �(3  �P	%� 2#�� �� 	�  �6� ��%& 1���%?�	 [�( ��7��� ��  � �� �(	%& �76�

  �( ���� ��  ���-( ��"#� ���	���6� .��5 ��(%&$����%& ���
�%� 1@� �  ��%& 1���%?�	 �%& 
�	��	 �� �

 .2�	 1@�  �6�  

 *��P1A���& ���'� 2�
�5 .  
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 *��P2  �(���'� ������ .QoS  *�� �	 
��
��	 �� �( 
�8BCDV  

  

  

  

 ��%B�2 ���� �	 $��4� .$����%& ��� �	  	 ���� :14  �2&	��� 1���%?�	 ����-3 
%R� K��-�  	�� 
�8

 �������! �����3	 ����R� H-7� �  

5
�������� � &=�>	� ��� :��@���% .  

 *�� k�L%� �� �KS� ��	��VANET-DSD  �� 
	%&�%&  �( 
�8  �������! � =>�?�	  	�� �5 1��	��� $�

VANET  �( ����:� . �������! ��.�� � =>�?�	 ��.�� :2�	 ��.�� ���	 ��)�� *�� .��	 
�� ��@6)��
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 ��� I�S��	 ��%&��MPR 	� 2&	���  �( ����3	 ��7�	  	�� 2&	��� ��	 .�65 $� 2����� �%& <�8�6(�  	� �	

 *%+ �� ����3	 � ���8 $� 
�@� ���� A���& �	 �%& ����3	 =��	 /��	��� 
�8 �( mF� .�%� $� 
��
��	 
�8

 � ��-�3	��%�  �( ��%&�� �3%-7� I�S��	 �	 �� 2�	 �X��� I�S��	MPR�	 �'� .�%� �L�. <�6�-+	 �( 

  �( 
�8 ����� �� ��%� $� I�S��	 <�� 
��� <	%6'� �( 
�8 $&�� ��( I�S��	MPR  �( 
�8 ��	 .�665 A��X� 	�

 =%& ;� �� �%P%�  �( 
�8 T�-� <��� A	�(�)� �<! �	 �'� .�665 $�  ��8 1�-B� �%& A	�(�)� /��	��

�	 �� 	� A	�(�)� T�-� �
�8 �( ��6�	 �� �%� $� ���	i8 O	���	 ������ �	 
��
� -  � �65  ��! H-P ��#F��

 .���?� 	� $��@� 1�-B�  

5.1 ��*�A� 4@��2  

 :��	� [�( �� �5 1��	��� $�  ����3	 *�� $.	�+ �� �KS� ��	 ��1 �� ����� ����� $�%8 2���. =>�?�	 .

 � �( ��%& ���)� *%+2���� �� ����	 ��-�3	 ���!�� ��)� �� ���D . -  �*�	 [�( �� $������  	�� .��#F��

 /��%&�� <	%6'� $��S��	  �( 
�8 �� �%� $� $.	�+  �%+ ����3	MPR  A���& �	 �%& 1@� � 
�� C�D��

���� ���X� �T�� [�( 
����� .�6(� K�	>�	 	� ���� - �5 ��#F��   	��  �������! *�� �� �(	%� H�-7�

 �� ,�-�.	 �(���!�� ��	 .2�	 ����� ����� ����	 ��-�3	 ���'� �5 ��� $� G��  �P ��)� �	 ��%� $� 
��
��	

6� .�6��� �	i8��\�� H�-7� G���� 2&	��� *�� �7��� �5 1�65 $� 
��
��	 ����� ����� �( ����3	 �	 �� ���	���

 .2�	 $'�-7�  

 �� 	���	 ��( 
�8 T�-� ����3	 �	���100  �	 	� $�&	��� 
�8 ��6�	 �� ���� $� K�	>�	 T�	�� �%V� � �%� $� 1�X6�

 .�65 2����� �( 
�665 I�S��	 /
�6(�  	�A�%L $��( 
�8 _�%� 2&	���  ��%&�� <	%6'� $���� �5 ���8 $�

 ��MPR  =��	 ��� A��
� A�%B� ��( ��%&�� 2&	��� .��	 
�� I�S��	QOS  � (��%&��) 
�	�  	� 
�8

 =��	QoS  =��	  	�	� 
�8) <! ���#-( 
�8 ����@�QoS  .�%� $� <��� (��%&�� �	 ��D  �'� �45	�. $�R�

 1���%?�	 �� ��( ��%&�� 2&	���1 �� <��� .2�	 
  

  

 1���%?�	1��%&�� 2&	��� 1���%?�	 .  
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 1���%?�	2  	�� 2&	��� 1���%?�	 .MPRs   �( ��%& �52T�8 ����� $� �B�� 1@� 	�  

  

  �( 
�8 _�%� $������ 2&	���MPR   �( ��%&�� �53T�8  �:	�. /��	�� ������ $� �B�� 1( �� 	�

 =��	QoS ��	 2&	��� .�%� $� ���'� ���P ��#� MPR  1���%?�	 �� �(3 .2�	 
�� �����  

  

 1���%?�	3  	�� 2&	��� 1���%?�	 :MPR  �( ��%& �5 $��(3����� $� �B�� 1@� 	� T�8  
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 .�%� $� H-P <��� *%+�� ����3	 .�(� $� <�)� 	� 
�8 ��	 _�%� $������ $'�-7� 2&	��� �
�8 ����3	 =��	

 
�8 ����3	 ���	���6�X  :1�(� $� <�)� ����'� �� 	� ����-(  �( 
�8 �$��� ��69 �� .

 A�� 
��%5 ��  ���-( �� 1�-B� ��5�%& 
�8 �8	 ������ �� .�6(� $� K�	>�	 	� �%& ����3	 =��	 ����3	 ����?�

�@� �%&  ����3	 =��	 /��	�� � ���� A���& �	 ����� ����� �
�U'� .2�� �(	%& ��� �	 G���� �� <! $� 


 ����  �6@� �8	 �*�4�  	�� .�%� �(	%& ���R� �
	%&�%&  �( 
�8  	�� ����� H��6� �� $����� ���	���6� .����8

 ���� /���� ���:2000Mb/s  ����3	 ������  	�	� ���7� 
�8 ��@9 � ����123 �115 �108 �154  .�6���

 ���� $�5 ����3	500=154+108+115+123 ���	���6� .���� $�  �( 
�8 ����3	 2�#�

  ����  �6@� 1@� �*�	 
�8 .2�	  �T�� 
�8 ����  �6@� 1@� .�(� $� 	�

 �T%� ����  �6@� 1@� .�%� �(	%&  �T��@9 
�8 1@� �����.�� 2�	  �� 2�	

 ��6�	 �	 $(�8!  
�8 �( ���	���6� .2�	

H��6� �	 �%& 1@� $�	�	 2@P �%& ����3	 =��	 K�	>�	 �� ���-�  ��( 
�8 �5 1�65 $� ��-b� �� .��	� ����

 =��	QoS  .�	� �6(	%& <�)� =	��� � I�S��	 2@P 	� �%& $���.  

 *��P3����3	 ���	��� <��>�	 �	 �'� A���&  �(���'� 2�
�5 .  

  

 � �( ��%&�� �	 ��-�3	 ��%� �3%-7� I�S��	 2@PMPR H��� �� 
�8 �(����3	 ��(QoS  .�%� $� ���Y	

 *�� ���	���6�QoS  *��P �6��-(3  A	����3	 H-P �� 	� 
�8 �( ����3	 =��	 �5 ����� ���	� �P%� .�%� $�
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 K�	>�	 �( I�S��	 *%+ �� 	� �( 
�8 <��� 2��:� � 
��5 ��-b� 	� 2�	�3 �� 1�65 $� 1�#�� ���7�  �( 
�8

 .1�(�  

5.2 
�������� B#�	���  

 <	%6'� ��6�	 �	 �'� ��( 
�8 $&��MPR  ���#� 2�	�( <%w-( ���� ����-3 ��  ���-( �� �� ����� I�S��	

 �%& [	�(	 r�R� 2@P ��( 
�8 �. �	 ��-5 /�. �	 K�� 23�� *����� �( 
�8 ��	 .�665 $� �-3 ���(	%&�%&

 KS� �� �5 �65 $� C��S� 	� ���� ����-3 � ����� ��69 .�6�#(3 ���:  .2�	 
�(�)� �6����� ���	���6�

  	�� � �������! 1#����� ���69 .���� $��( 
�8 ��69 $����6� �� ���: �5 1��#(  �������	 1#�����

 Q%� �( �5 �6�#(  ���-(��D �( 1#����� ��	 �*�. ��	 �� .��	 
�� ��@6)�� 
	%&�%&  �( 
�8 $����6�

� A�:�	 $(�8 � ��&�� ����7�� 	� $-�-B� �
�U'� .���� $� =��	 $ T�,! � T�@�	 AU�)� �	 �( 1#����� ��	

 	�  ���-(  �������! 1#����� �KS� ��	 �� .���� $� G�� ,�� O�R� � �( ��#� T��B� �	 �L�. 
����	

 $� 	� 1#����� ./�-� ��)��	 � H�-7� �O	���	  �A��X� :2�	 1���%?�	 ��@9 �	 ��)�� �5 1�(� $� ��@6)��

�  �( 
�8 <�� 
��� A�%B� ��6��� $� ��%&�� ���� �5 ��%&  �b3	 �,�	 .��5 �LU& ��� A�%B� <	%

MPR T�-� <��� �(	%� �<! �	 �'� .�665  ��! H-P O%�)�  �( 
�8 
�����  �(	%� �� ��%� $� $.	�+ �%&

���� ���X� �	 
��
��	 �� 
�8 �( �mF� .��%� $� ���	i8 O	���	 �� �( 
�8 - � �65 $� H-P 	� �(	%� ���#F�

 �  �������! <��� �� �65 $� *���� �?��-( �� 	� A�-�-B� ��( ��%&�� �2��@� �� .���?� 	� $��@� 1�-B� ��

 .�(� K(�5 	� �����  

 �2�	 
�� r�)� <�� 
��� T%@
� �	 1���%?�	 ��	 .2�	 O%�)�  �( 
�8 $����6� �1���%?�	 ��	 [�( :A��X�

 �(  �b3	 �5  �( 
�8 ����� �� ��%� $� ���'� <�� 
��� <	%6'� ��%&�� ���� ���%&MPR  � 
��5 A��X� 	�

 .�665 $�  ���-( �5 �665 ��-b� 	� �%& *����	 �6�	� �� �%P%�  �( 
�8 <��� g����	 �6�	%� $� �( 
�8 ��	

 
�8 �8	 ���	���6� .��%6)�W $P��& �  ���� *����	 ��	%��MPR M  ��%6)� 	� A�%B6�	 ��W  <	%� $� 	�

 ����� �l�� <�� 
��� <%w-(M  ��#� �(  	�� $L�& <��� �<�� 
��� 
�8 �( ���5 ��	 T�7�	  	�� .��5 $.	�+

 ��#� �( ��65 $� M
. 	� $����	 
��� ��#� ���� �5 $��� 
��� �<��� ��	 W�b��	 �	 �'� .�65 $� fS)� *���	

	%& �#���� ���� ��#� �� 	� ����� �� ��#� ����� ��69 �8	 .�� �� ��	� �%P� $���V� ��! �5 ��6��� �� ��5 �(
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 �� I%& <�)� �<�� 
��� � �%� $� 
�	� ��%R� $����MPR  �� 
	%&�%& <�)� �A�%B6�	��D �� .�	� �(	%&

MPR  .�	� �(	%& <! �� O%�)� <�)� ��	 �	� �(	%S�  

�5 �� �*��65 �	 p��& ��	%3 $&�� �*�. ��	 �� �*�4�  	�� .���	i8��\�� <�� 
��� � �� ����  �( T��B� �+�& ��

  ������� �� 	� ���-(  �( 
�8 �( <�� 
��� ���%� ��	 �� .��%)� 
�	� ��%R� �( ��#� $&�� ,�-�.	 �,�� O�R�

(�)� O	���	 �  ���-(  �������	 2�-(	 .2#�� $��5 �<�� 
��� 
�8 �69 �� ;� ���X� .�665 $� 1@�� A	�

 .2�	 2-#: ��	 �� ����� ����� <���  

 1���%?�	4 �������! 1���%?�	 .- $�5��)� *��65  

  

 $� O	���	 �� �%&  �( ��%& �� �%P%�  �( 
�8 �?�� �� 	� �%& �(	%� �
�8 �( �1���%?�	 ��	�� :O	���	

��@� 1�-B� �� � ��&�� 15	��� 	� 
�� H-P �(	%� T�-� �6�	%�� ��6�	 �� ��	i8 .�6��� 2�� $  

 1���%?�	5 �������! 1���%?�	 :- O	���	  
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 �(	%� ��?���� <��	%� $� �( 
�8 .�6�#( $'-7� H���  	�P	 �� �%�7� �( 
�8 �$��@� 1�-B� �`	�	 2@P :H-7�

 �*�. ��	 �� .�665  ���� 2��45	 1�-B� 
�3�: �	 $�. �� � 
��5 ����R� 	� $������ ��	 ���� �$'-7� H���

#� ,�-�.	 <�� 
��� �$6'� .���	i8��\�� $��@� 1�-B� �� �=��	 $� �(	%� $&�� �5 ���� ���	� �X� �� 	� ��"

 �5 ��%?�MPR  �%V� .�(�  ��  	 �#��� �
�8 �� ��	 ��� �8	 ����	 �2#�� ��%?6�	 �����.�� 2�	 I%&

 �5 ��%� $� ]3�� �( <�� 
��� $&�� ����)�MPR �� <�%� C�:� �	 	� �@�! �5 [�( ��	 �� ��665  ������� �(

 .���� $���
� =��	 $� � �6-���	 �(	%� ��� ���� ���	���6� .�665 [i. 
�6�! I�S��	 ������  

���� ���X� /��	�� 	� $'-7� 1���%?�	 ���5 ��	  	�� -  ��69 �� 	� �%& 
���� ����X� ��	 .1�(� $� �`	�	 ��#F��

\ $�`�#� ��	 .�665 ������ $'-7� 1�-B� �� �� �6�#( C�5�� �6����� ����#� H��6� �(	%� �5 �2�	 
��5 2��

��� ����� ����3	 �	 
��
��	 �� �� .��� $� G�� �( 
�8  �6-���	 ����	 ���!�� ���'� ��"#� �	 ����X� ����R� ��

� �����3	 .1�65 $� ���D ��"#� ��	 �� �=>�?�	 1#����� �� 
�� �`	�	 ����� ����� ��-�3	 sV� �	 $��:� ���!�

 ���� >�� $'-7� 1���%?�	 .2�	  %8 2���. ����� ����� ��  ��@6)�� $'�-7� 2&	��� �7��� <%9 �(� $�

  �6-���	 *�-�.	 	���	 .�65 $� �-3 ���α ����� ����� �( �� ����3	 �	��� /��	�� �L  $� 
�	� f�BS�

:��6�	 �� �%�  

  

! �� �5 <n  ���)� ��%& �� r�'�� � ���7�  �( 
�8 T�-�L  
�8 1�#�� �5 ����� ���	� �P%� .�(� $� <�)� 	�

 ��6�	 �� �(� $� K�	>�	 �( 
�8 <��� 	� <�%� $���:� � 
��5 ��-b� 	� <�%� ��,��3 �����3	 ������ �� ���7�  �(

 <	%� �3%-7� 2�	 ��@� .���� K�	>�	 �@�! A	����3	Ω  ��)�� ��Y�� :1�65 k��'� 	� $�L	 �
�%� �� �	H=C 

 �5 ��	� $� <���MPR M  ���-(  ��Y�� x2�	H=S  ��Y�� � 2�	 
	%&�%& ��6�	 $6'�U=Ω  ��6�	 $6'�

M  �� ���-(  $6'� �2�	 1@�  ��8 1�-B� �� 2�'V: T�3 <���  	�� ��&! ��Y�� ��	 .2�	 
	%&�%& �� 2�	

"-V� �( <�� 
��� $&�� ������� ��! �5 �6�#�� �MPR  ���-(  �� �
�8 �� $B�BS� <��'� *�-�.	 .�� �� 2�	

 
�8  �6-���	 *�-�.	 ��	�  
�8 �8	 �5 2�	 $6'� ���� ��	 .2�	 ��	�� 
�665X  *�-�.	 �� �5α  �6-���	

 �2�	 
�8 �5 �65 <���Y  ���-(  
�8 ����	 �-�R� k����� A�%B6�	 �� �2�	X :�	 �6����3  
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�8 �8	 ������ ��X  �5 ���� $3��Y  
�8 ���� �-�R� k����� A�%B6�	 �� �2�	 
	%&�%&X :�	 �6����3  

  

:2�	 
�� <���  �6-���	 H��� C#.�� �
��  ��! H-P �(	%� C�5�� 
�3�:  

  

 <! �� �5H  <	%� $� 	� ��	 .��5 �. �(���� �	 2
P �( C�5�� �� <	%� $� 	� ,�� H��� .��	� $� <��� 	� ��Y��

:�	� T�7�	 ��� A�%B�  

  

���� -  ���  ��	� =��	 ���#F��0  ���	���6� .��	� $� <��� 	�  ��	� ��	 �� ���� �P�� � 
��5 ��7�	 	� ;� �

���� 	� 
��
��	 - 	%� [i.  	�� ���#F�� �	 $��@�  ��	� nR� �� �=��	 $� �� �"-V���D �8 
�(�)� �	 �(

 .2�	 1@� ��-�3	 ��%� �(	%� �� <�� �`	�	 r��+  

 1���%?�	6 �������! 1���%?�	 .- W	�! H-7�  

  



 

18 

 

 ���� �( 
�8 �2���. �� .2�,��  �. �� �1���%?�	  �������! <��� � ����� :/�-� ��)��	3  	�P	 	� 1���%?�	

:�665  ��%& �5 �%� $� 
��
��	 ��	  	�� �/�-� ��)��	 �L	 ���"#� ��	 �� ���D  	�� .H�-7� � O	���	�A��X�

 ���� �5) ����� ����� T�-� _�%� 
	%&�%&  �( 
�8 ���	���6� .���	i?� O	���	 �� 	� �( 
�8  �6-���	 �� ���� �(

��%?�	 �� ���� <��� (���	i8 $� O	���	 �� 	� 
�8 ��	 �� .�� �6(	%& ���6� H�-7� � O	���	 �A��X�  �( 1�

 2:��( �5 2�	 �%�7� ��%& �� �$'�-7� 1�-B� ����8 �	 �'� .�65 $� ��5 ��� A�%L �� /�-� ��)��	 ��.��

 �� 	� A�3U+	 ��	 >�� �( ��%&�� ��	 .�65 �)�6� �( ��%&�� �?�� �� 	� A�-�-B� ��	 ��	�  �� �@�! �� /�-�

&  �b3	 T�-�  ��@6)�� 
	%&�%&  �( 
�8 �� �?�� �( 
�8 ��	 ���	���6� .�665 $� �)�6� �%& ��%  ���-(

 �� �6�	%� $� �( 
�8 �$��: 
	%&�%& 
�8  	�� ���P  �������! �6�	�� Q���  �P �� ���	���6� .��5 �6(	%S�

 �
��	 ��	 .�6�� ����� �( 
�8 ��	 �� ��%&�� �	 � 
��5 $�%P ���L �%& <��� �	 $���  �������! ����� =�@5 ��

 .�(� $� 
��P	 �( T��� ���� �	�'� *����  

 1���%?�	7 �������! 1���%?�	 :- /�-� ��)��	  

  

5.3 ��.C ��<�  

 KS� �� 
�� �`	�	 *�4� ������ ��	 ��4  
%R� � ����3	 ����R� 
%R���@�&	��� 	�P	 
%R� �� 1�(� $� ��	�	 	�

�-(  �������!  ��#��� ��%B� �� �5 �( 
�8 T�-� ����3	 ����	 ������ .1�(� <�)� 	�  ��2  ��	 
�� 
�	� <�)�

 *��P ��4  ��100   �( 
�8 .��	 
�� 1�X6�12  �13 $�R� *�-�>5�� ������  	�	� �5 �QoS   �( ��%& ��

  �( ��%& �� ��%&�� <	%6'� ��6�#( �%&1  �2   �( 
�8 .��	 
�� I�S��	12  �13  �'� <	%6'� ��6�	 �	
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 .�%� $� ����R� ��� A�%B� 2&	��� .�665 $� 2����� 2&	��� ����� I�S��	 ��%&�� 
�812  �	���

 2&	���(12) = QoS (12)  QoS (1) = 746.5  685.8 = 60:7 ���P ����3	 �� ��5 �(	%& 2����� 	�Rep (12) 

= 100 + 60.7 = 160.7  
�8 ����)� �%V� .�65 1��#� 	�13  2&	���(13) = QoS (12)  QoS (1) = 797.8  

708.76 = 89.04 ���P ����3	 �� ��5 �(	%& 2����� 	� Rep (13) = 100 + 89.04 = 189.04 �'� .�65 1��#� 	�

 I�S��	 1���%?�	 �<! �	MPR I�S��	 1���%?�	 /��	�� �QoS- OLSR   �( 
�8 .�(� $�  ��1  �8  A�%B�

MPRs  .��%� $� I�S��	 1���%?�	 ��	 /��	�� � ��	MPR nR� �� �%& 
�6(�  	� 
�8 �	 	� 2&	��� �(

 �*�4� /��	�� .�665 $� 2����� I�S��	MPR  �(1  �8   �( ��%&�� �53 T�8 12  �13  $� �L� 1@� 	�

 �5 1��#(  ��#� ����� �6����� �� .��%� 2&	��� ���� ��66512  �13  ����� � �65 �B�� 1@� 	�QoS  	���@�

 ��#� ���%� ��	 �� .���� ���	�7 -1   �( 
�8 �	 ��)��1  �7  2&	��� .2�	MPR A��
� � �(QoS  �� ���

 ��6�	 �� �%� �(	%& ��#�(1) = Payment (8) = min (QoS (1),QoS (8))  min (QoS (1),QoS (7)) = 400  

308.1 = 91.9 � ���	���6� .���� 
�8 ���P ����3	 �	��1 �Rep (1) = 100 + 91.9 = 191.9  �%V� .�%� $�

 
�8 ����)�8 ����3	 �Rep(8) = 100 + 91.9 = 191.9  .���! �(	%& 2��� 	�  

  �( 
�8 �<%65	2, 3, 4, 5, 6, and 12  
�8 ����� �� ��5 �6(	%& �-3 <�� 
��� <%w-(1 MPR  A��X� 	�

 
�8 �� /�	 $P��& / ����  �( ��#� T�-� �6�	%� $� �( 
�8 ��	 .�6651  �� ���&	 ��%� ��	 <%9 ��%6)� 	�

 
�8 �5 ��65 u�� .���8 $� �	�: �@�! *����	 
���R�1  ��#� *���	 �� ��7�P1  
�8 ��8  
���  �( 
�8 .2�	

�� �%& �B�� �� ��#� ��� $� ��X��	 �5 $���� �<�� �6��� ���30  ��	  �b��	 �	 �'� .�65 $� ���!�� 	� ����\

 �� ��	 
���� �%& �B�� �� ��665 $� M
. �5  ���� �	 
��
��	 �� ��#� ��! �5 �65 $� $���� <�� 
��� ���&��

 
�8 �� 	� I%& <�)� �2�	 
�� 2����� ��#� �5 �6����� �@�! �8	 .��1  
�8 �A�%B6�	��D �� .�6(� $�1 

�)�  �@��� 
��� �5 ��65 u�� .2�	 O%3  �6  ����� ����� �5 ��	 
��5 =�	>81  A�%B6�	 �� .2�	 O%�)�

 
����� 	� $��@�  ��8 1�-B� �� ���	i8 $� O	���	 �� 	� �%& A	�(�)� ��@��� 
��� T�-�MPR  <%65	 .�6(� �`	�	

���� �	 
��
��	 �� �� �6�#( �%�7� - -P 	� �%& A	�(�)� ���#F�� ��� H�-7� 
%R� �	 $��4� ���� �� �� .�665 H

 �� �*�	 ����� ����� �5 ���� $3�� *�	 <�� 
��� ��� *�4� �� �5 ��65 u�� .1�(� $� <�)� 	� <�� 
��� ��

 *�-�.	0.99  *�-�.	 �� �%& 1�-B� �� 2�#� �<�� 
��� ��	 � ���� 
	%&�%&0.01  �� �5) ��	�� ����m1(S) 
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and m1(u) � <�)� �5 ��	� $� <��� T�� <�� 
��� .(��%� $� 
�	1  *�-�.	 ��0.99  �� � �65 $�  ���-(

 *�-�.	0.01  �� �5) ��	�� ���� �%& 1�-B� �� 2�#�m2(C) and m2(U)  �(���� mF� .(��%� $� 
�	� <�)�

:��%� $� 
�	� <�)� ��� ��� ��  

  

 *��P �� �<�� 
��� �� �� $��(���� C�5��5 
�� �LU&  .2�	  

 A,��'� �	 
��
��	 ��2  �3 :1��	�  

 -  $��5�� *�-�.	 �H+���� <%�� � k���  �(���� I�Ym12(S)=(0.99)(0.01)=0.0099  �(� $� 	� 

 - �(� $� <�)� 	� *U�&	 �$��& H+��� 

 -  C�5��  	�� ��
L��D �	���  2�	 

 -  ����R�  	��k ����'� �	 
��
��	 �� .�6(� $� <�)� 	� �( *U�&	 �5 1�65 $� I�Y 	� $��&  �( H+��� �3 �

 1��	�  

 -  ����'� �	 
��
��	 ��2 1��	�  

 *��P4����3	 �	��� ����R� 1���%?�	 �	 
��
��	 �� �( 
�8 ����3	 ������ .  

  

 ����� ����� $(	%&�%& *�-�.	1 �  ����� .���	� �%P� $
��S� n:�6��  �(���� �9�8	 ���� $�

 �����1  
�8 ��%&�� �<%65	 .���8 $� $(	%&�%& <�)�12 
�8 ��%&�� �� 	� 1�-B� ��	 �13  $� �)�6�
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) ��%&  �b3	 � �(� $�  �� $��-� �@�! ��� ������� $6'� ��657,9,10,11,14 �6�	�� �� ���� $� H�V� 	� (
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